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DIPLOMA IN ROAD TRANSPORT MANAGEMENT 
 

LEGISLATION IN ROAD TRANSPORT (LRT2RY1) 
 

PART A – 30 MARKS 
 

MULTIPLE-CHOICE QUESTIONS 

 

• MULTIPLE-CHOICE ANSWER SHEET INCLUDED ON THE LAST PAGE OF THE 
ASSESSMENT SCRIPT (ANSWER BOOK) 

• ANSWER MULTIPLE-CHOICE QUESTIONS ONLY ON THE ANSWER SHEET 

• MARK YOUR ANSWER WITH A CROSS (X) IN THE BLOCK 

• NO MARK WILL BE GIVEN IF MORE THAN ONE ANSWER HAS BEEN CROSSED 

 
 

THE NATIONAL ROAD TRAFFIC ACT, 1996 AND REGULATIONS (THICK BOOK) 

 
 
1. Which of the following vehicles are not emergency vehicles? 
 

A. Vehicle driven by a police officer in execution of his duties 
B. Vehicle driven by a person engaged in civil protection 
C. Rescue vehicle 
D. Breakdown vehicle 

 
2. What is the device called that electronically controls or limits the travelling speed 

of a motor vehicle?  
 

A. A speed breaker 
B. A speed jammer 
C. A speed governor 
D. A speed repealer 

 
3. To which of the brakes does the following refer? ‘A braking system actuated by a 

device fitted to the drawbar of the trailer when a force is exerted on such device 
by reason of the inertia of the trailer.’ 

 
A. A service brake 
B. An emergency brake 
C. A parking brake 
D. An overrun brake 

 
4. A dangerous goods inspector suspects that a vehicle is not complying with the 

regulations and detains the vehicle. Which of the following statements is FALSE 
as far as the opening of dangerous goods packages is concerned? 

 
A. The inspector is allowed to open packages immediately 
B. The operator must first be notified 
C. A qualified person must supervise the opening of packages 
D. The opening of packages is authorised by the local authority concerned 
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5. When may a person do an oral test to obtain a learner’s licence? In the case where 
- 

 
A. persons are older than 70 years 
B. persons who have failed several times before 
C. persons who are mentally disabled 
D. persons who are illiterate and have obtained permission from the MEC 

 
6. For how long is a motor trade number valid from the date of authorisation? 
 

A. 36 months 
B. 6 months 
C. 24 months 
D. 12 months 

 
7. No person may operate any breakdown vehicle that is towing another vehicle on 

a public road in excess of - 
 

A. 120 kilometres per hour 
B. 60 kilometres per hour 
C. 80 kilometres per hour 
D. 40 kilometres per hour 

 
8. Where must an operator card be displayed on a vehicle that is fitted with a 

transparent windscreen? 
 

A. On the back window on the left-hand side 
B. In the front on the inside of the windscreen on the left-hand side 
C. On the back window on the right-hand side 
D. In the front on the inside of the windscreen on the right-hand side 

 
9. How old does a person have to be to obtain a category ‘D’ professional driving 

permit? 
 

A. 25 years 
B. 21 years 
C. 18 years 
D. 17 years 

 
10. Which licence code is needed to drive an articulated motor vehicle of which the 

gross combination mass of the truck-tractor exceeds 16 000 kg? 
 

A. EC1 
B. EC 
C. EB 
D. C1 

 
11. Who must licence a motor vehicle? 
 

A. The owner 
B. The title holder 
C. The registering authority 
D. The spouse 
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12. According to the Regulations, how would you establish the number of children 
that you are allowed to transport in a motor vehicle that can carry 15 adults? 
These children are all between the ages of three years and under six years. 

 
A.    15 x 3 = 45 
B. 15 x 2 = 30 
C. 15 x 2 + 5 = 35 
D. 15 x 4 = 60 

 

THE ADMINISTRATIVE ADJUDICATION OF ROAD TRAFFIC OFFENCES ACT, 1998 
AND REGULATIONS (THICK BOOK – PART 2) 

 
 
13. You have incurred six (6) demerit points against your name for an offence that 

you committed. How many months will it take for the points to reduce if you do 
not incur any additional demerit points after committing the offence? 

 
A. 18 months 
B. 6 months 
C. 3 months 
D. 2 years 

 
14. An infringer who holds a foreign driving licence and has committed an 

infringement - 
 

A. is entitled to discount and a 50% reduction 
B. is not entitled to any discount and must pay the full amount 
C. need not pay any penalty 
D. must go straight to jail 

 
15. In what year was this Act first accepted by Parliament? 
 

A. 2001 
B. 1996 
C. 1998 
D. 2000 

  
16. When an infringement notice is issued, it should contain the following additional 

information concerning the details of the vehicle with which the infringer 
committed the infringement. Which of the following facts is not necessary to 
appear under this section on this form? 

 
A. Colour of the vehicle 
B. Make of the radio inside the vehicle 
C. Make of the vehicle 
D. Motor vehicle licence number 

 
17. Which person is NOT an authorised officer, according to this Act? 
 

A. A municipal police officer 
B. An operator 
C. A traffic officer 
D. A member of the South African Police Service 
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THE CROSS-BORDER ROAD TRANSPORT ACT, 1998 (THIN BOOK) 

 
 
18. The Cross Border Road Transport Act, 1998, regulates __________ and 

__________ transport. 
 

A. air and rail transport 
B. rail and sea transport 
C. freight and passenger transport 
D. pipeline and air transport 

 
19. The Regulatory Committee comprises of how many persons? 
 

A. 2 persons 
B. 4 persons 
C. 6 persons 
D. 8 persons 

 
20. Who appoints the Chief Executive Officer (CEO) of the Cross Border Road 

Transport Agency? 
 

A. The minister 
B. The staff members 
C. The board 
D. The parliament 

 
 

THE NATIONAL LAND TRANSPORT ACT, 2009 (THIN BOOK) 

 
 
21. What is a vehicle called that is a three-wheeled vehicle designed or modified to 

carry up to three seated persons including the driver? 
 

A. Courtesy vehicle 
B. Metered taxi 
C. Minibus 
D. Tuk-tuk 

 
22. What does eNaTIS stand for? 
 

A. Electronic National Transport Information System 
B. Electrical National Transport Information System 
C. Electronic Traffic Information System 
D. Electronic National Traffic Information System 

 
23. Choose the correct description for the abbreviation NPTR. 
 

A. The National Public Translator Regulation 
B. The National Public Transport Regulation 
C. The National Public Transport Regulator 
D. The New Public Transport Regulation 
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THE ROAD TRAFFIC MANAGEMENT CORPORATION ACT, 1999 (THIN BOOK) 

 
 
24. Which of the following is NOT a main objective of The Road Traffic Management 

Corporation Act? 
 

A. To enhance the overall quality of road use service provision and to ensure safety, 
security, order and discipline on the roads 

B. To reduce injuries and accidents which in turn bring increased merit rebates to the 
company 

C. To stimulate research and improve the exchange and dissemination of information 
on road traffic matters 

D. To introduce commercial management principles to guide road traffic governance 
in the interest of better service 

 
25. How often must contracts with provincial authorities be reassessed under the 

Road Traffic Management Corporation Act, 1999? 
 

A. Every year 
B. Never 
C. Every six months 
D. Every two years 

 
26. The National Road Traffic Law Enforcement Code will be applicable to - 
 

A. provincial traffic authorities 
B. security officers 
C. local traffic authorities 
D. statutory body vested with powers to do law enforcement 
 
 

SAFETY, HEALTH AND ENVIRONMENT PROTECTION PROCEDURES (THIN BOOK) 

 
 

27. As far as working with asbestos in the workplace is concerned, which of the 
following statements is incorrect? 

 
A. The process must be isolated 
B. A separate workshop is ideal 
C. Dust can be blown out with compressed air 
D. Respirators and protective clothing are required 

 
28. According to research, at what time of the day will drivers be at their lowest level 

of physiological arousal? (When will they be most fatigued?) 
 

A. 2 am 
B. 5 pm 
C. 5 am 
D. 10 pm 
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29. If a person makes a false entry in any official record or impersonates an inspector, 
this offence could result in a fine of - 

 
A. R2 000 
B. R5 000 
C. R10 000 
D. R50 000 

 
30. Excessive workshop noise is the greatest cause of industrial hearing loss. What 

is the permitted maximum level that is allowed in a workshop? 
 

A. 85 dB(A) 
B. 100 dB(A) 
C.  60 dB(A) 
D. 120 dB(A) 

 
 

(1 mark per question) 
 

PART B – 70 MARKS 
 

NARRATIVE AND DESCRIPTIVE QUESTIONS 
 

ANSWER ALL QUESTIONS 
 
 

NATIONAL ROAD TRAFFIC ACT, 1996 AND REGULATIONS 
(THICK BOOK) 

 
 
QUESTION 1  (4 MARKS) 
 
When your vehicle is stationary on a public road for a reason beyond your control you have to 
display an emergency warning sign (triangle) along the roadway. Write down FOUR (4) 
requirements that are applicable as far as this warning sign is concerned. In other words, how 
and where must it be placed? 
 
 
QUESTION 2  (5 MARKS) 
 
In this Act, what precisely does it mean ‘to modify a motor vehicle’? 
 
 
QUESTION 3 (8 MARKS) 
 
List FOUR (4) types of drivers who require a professional driving permit and indicate what 
category of professional driving permit the driver requires.  
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QUESTION 4 (8 MARKS) 
 
Which of the following vehicles are exempt from being registered? Write the words Exempt 
or Not exempt next to each vehicle. 
 
4.1 A motorised skateboard 
4.2 Goods vehicle 
4.3 Motor cycle  
4.4 Golf cart  
4.5 Micro midget car  
4.6 Minibus  
4.7 An articulated motor vehicle  
4.8 Vehicle drawn by a tractor 
 
 
QUESTION 5 (5 MARKS) 
 
What information needs to be kept on record by the person in charge of a garage or other 
place where motor vehicles are repaired after an accident? 
 
 

THE ADMINISTRATIVE ADJUDICATION OF ROAD TRAFFIC OFFENCES ACT, 
1998 (THICK BOOK) 

 
 
QUESTION 6 (8 MARKS) 
 
What are the objects of the AARTO Act? Name FOUR (4). 
 
 
QUESTION 7 (4 MARKS) 
 
What information must the owner or operator of a motor vehicle obtain from the driver of his 
or her vehicle? 
 

 
QUESTION 8 (2 MARKS) 
 
What is a disqualification period in terms of the AARTO Act?  
 
 
QUESTION 9 (6 MARKS) 
 
9.1 What methods of service are allowed for notices in terms of the AARTO Act? (4 marks) 

 
 

9.2 After how many days is a notice served by registered mail regarded as served? 
(2 marks) 
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SAFETY, HEALTH AND ENVIRONMENTAL PROTECTION PROCEDURES  
(THIN BOOK) 

 
 
QUESTION 10                                                        (5 MARKS – 1 MARK EACH) 
 
Complete the following: 
 
8.1 It is generally accepted in South Africa that it is during the first __________ years of 

employment that the new employee is more likely to have an accident. 
 

8.2 As far as vision is concerned – 
 

a) __________ means being able to read signs etc. at the greatest possible distance. 
b) __________ is the ability to see at night under different circumstances. 

 
8.3 Which group of drugs will bring about the following effects? 
 

a) Impaired psychomotor and perceptual skills 
b) Create drowsiness and induce sleep 

 
 

QUESTION 11 (4 MARKS) 
 
Define the concept ‘Defensive driving’. 
 
 
QUESTION 12  (9 MARKS) 
 
Name NINE (9) factors that are the cause of most traffic accidents. 
 
 
QUESTION 13 (2 MARKS) 
 
What is a hazard? Only give the definition – you need NOT give examples. 
 
 
 
 

END OF PAPER 


